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2t sin cos tan

54° 0.8090 0.5878 1,3764
55° 0.8192 0.5736 1.4281
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28. th2 199 AAAANA & G &= aBCD o] FAFA Itk GM =
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D
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@ cos 80° © cos 0° © tan 0°

® cos 27° © sin 15°

0,060 ® 0.6.@ 86,0
® 6,©.8,0 @ @ ©,6,.0,@ 0
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0] 45° 90°

0<x<45° A= 1> cosx > sinx
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32. 0°<x<90° ¥ ], 2sin®x-3sinx+1 = 0 S UEX7]E x 9
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sinx = A 2tal 5}
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A=-1
2

1
sinx = 5 sinx =13, x =30° == x = 90° o|t}.
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AZteel 25 B Ko 71 2k gk 7 2 32 A=
AA e Ag Tololet
Zte sin cos tan
10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0.7071 1.0000
50° 0,7660 0.6428 1,1918
70° 0.9397 0.3420 2.7475
89° 0.9998 0.0175 57,2900
B7]
@ sin20° © cos35° © sin70°
® cos50° ©® tan70°

Pee 006 06 ®oe Gae

B

@sin 20 ° = 0.3420
Ocos 35° = 0.8192
©sin70° = 0.9397
®cos 50° = 0.6428
@tan 70° = 2.7475

2.7475

ojnZ 7pg Z2 Fe @sin20°, 7Y Z 2 @tan70°
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37. T 94 AABC = ACDE ©]2L Al & B, C, D & ¢34 ¢
9ltt. AB = 6em ©]3, ACDE 9] Yol7} 24 & o, Alt}e]Z ABDE
o] Ed9] do]=?

E
A
B C D
@28+10\/§ @ 12+8V3+10V2
® 48 +10V2 @ 12+8v2+2+21

® 10+8vV2+ V21

AABC = ACDE ©|22 AB = CD, BC = DE ©|t}.
ACDE 9] Yo7} 24 o|B 2
ACDE:%-C_D~WZ%-6-ﬁ:24

~DE=28

AB=CD=6, BC=DE =8
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AC = CE ©]al /ACE = 90° ©|22 AACE £ Z|z}o| S Akzt
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39. e 193} 2ol DABCD o4 5 dizh4lo] A= Hwsti, AD =
6,A0 =3,BO = V3 < W), CD" - BC~ 9] 32 F5toial.
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AABO °f|A

AB =324 (V3)2=120]02
12+ CD =BG + 62
CD’-BC? =36-12 =24




40. & 1A AB = 300, A = 30°, /CBH = 45° & o], CH 9

dol=?

@ 300(1 + V2) @ 300(1 - V2) @150(\/§+ 1)
@ 150(V3-1) ® 150(V2+1)

~&B

CH = x 2 5, BH = x
ACHO|A, CH:AH=1: V3
x:(3004x)=1:+3

300 +x = V3x

(V3 —1)x = 300
x=150(V3+1)
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AC = AF = CF = 12 V2(cm)

AACF = ? x (12v2)? = 72V3(cm?)
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T 193} o] A9 Qo) 7] A7t A
Atk A AFNA 7] AlSHe] Hefr) ¢ &
St 2 zto] 60° o]aL, A A|HofA 7] Al
S FOo R 12m HolZt B A-HAARE &
2ubo] A2t @ 28 BD 2] Zo]7F4+/3m
o1 @ 2uto] A} 30° A uf, =7] Aok 2]
o] CDE?

@ 6V3 (m) @16 V3 (m)
® 20V3 (m) @ 68V3 (m)
® 70V3 (m)

~&B

AH =12 +4vV3cos30°

:12+4«/§x§

=18 (m)
_ 1
DH:4\/§sin30°:4\/§x§ =23 (m)

CH = AH-tan60 = 183 (m)
.. CD=CH-DH=18V3-2V3 =16V3 (m)
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Ut ARlol= A% 10km & HAE
25° WRFO % 7kl 4-ghol= Al 8km
2 GEZ 35°u5F0 2 7oA A 2| A
oA &Rt A 1A1ZF 307 Fo] Wl

oje} srgto] Atel o] A2l F-atolt.

>
> HeH: 3+v21km

AH =12c0s60° =6 (km)
" HB=15-6=9 (km)
CH = 125in60° = 6 V3 (km)

. BC = vHB? + CH2

:

92 + (6 V3)2 = 321 (km
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8] Aol A 6m Hoj oA 4
g 2et 2 7ho] 2717} 51°, Welth
B 7to] 2717} 36° ik, o] A A
o] Lol Fatefet. (& tan51° = 12,
tan 36° = 0.7)

@ 9.2 (m) @ 10(m)
@®)11.4 (m) @ 12.6 (m)
® 13.2(m)

BC =6tan51° = 6x 1.2 = 7.2 (m)
CD = 6tan36° = 6 x 0.7 = 4.2 (m)

- BD=BC+CD=72+42=11.4(m)




